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Question Bank

Question(211)

(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):1

Direction : Out of the alternatives choose just one which can be substituted for the given

sentence
Q. Study of plants.

O

Bacteriology

@
Botany

O
Bibliography

O

Acoustics

Question(212)

(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):2

Direction : Out of the four alternatives choose the one which can be substituted for the given

sentence.

Q. Study of Raising of silk worms for the production of raw silk,

O
SPECELOGY

O
SEISMOLOGY

O
SERICULTURE

O
PETROLOGY

Question(213)

(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):3

Directions : Out of the four alternatives choose the one which can be substituted for the given

sentence :
Q. Art of writing beautifully

O
CALLIGRAPHY

O
CHRONOBIOLOGY

O
CYPHER

O
EPIGRAPHY

Question(214)

(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):4

Directions : In the following sentence a word or phase is written in bold , for each bold part four
word or phrases all listed below each sentence Choose the word nearest in meaning to bold part
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Q. The nurse was a vigilant young man

O
Smart

O
Watchful

O

Ambitious

O

Intelligent

Question(215)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):5

Directions : Correct the following sentence by using the correct form of the verb
Q. He was having a number of books

O He had
O He has
O He were
O He are

Question(216)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):6

In each of the following questions one of the sentences has an error & the other parts of the

sentence are correct. Find out which part of the sentence has an error (1), (2), (3) & if the
sentence is free from error then choose your choice as (4)

O

It is best

O

to be silent

O

than to speak in anger

O

No error

Question(217)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):7

In each of the following questions one of the sentences has an error & the other parts of the

sentence are correct. Find out which part of the sentence has an error (1), (2), (3) & if the
sentence is free from error then choose your choice as (4)

O

On weekend

O

| prefer cooking
©)
than going out visiting my relatives

O

No error

Question(218)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):8
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Directions : out of the following four alternatives choose the one which expresses the meaning
of the given word
AMENITIES

O Pageantries
O Privileges
O Facilities
O Courtesies

Question(219)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):9

Directions : four alternatives are given for the idiom / phases underlined in the sentence. Choose
the alternative which best express the meaning of the idiom/phases.
She turned a blind eye to her daughter’s deed

O

pretended not to notice

O

paid special attention to

O

covered up for

O

punished severely

Question(220)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):10

Directions : four alternatives are given, out of which only one word is spelt incorrectly. Choose
the incorrectly spelt word

O
PALMISTRY

O
HISTRY

O
PSYCHIATRY

O
CHEMISTRY

Question(221)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):11

In the following sentence, some of the words have been left out. Read the sentence carefully &
choose the correct answer to each question out the alternatives & fill in the blanks.
His tastes & habits explain why he is always in debt.

O Judicious
O Thrifty

O Moderate
O Extravagant

Question(222)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):12

In the following sentence, some of the words have been left out. Read the sentence carefully &
choose the correct answer to each question out the alternatives & fill in the blanks.
We offer to all who ask.

O Council
O Councillor
O Counsellor
O Counsel
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Question(223)

https://nchm.nta.ac.in//bucketing/main.jsp

(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):13

Four alternatives given for idiom/ phases underline in a sentence. Choose the alternative which
best express the meaning of the Idiom/ phases The king took a bird’s eye view of the issue

O

Vision of a bird

O

See without giving attention

O

A general view from above

O

Visualise

Question(224)

(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):14

In the given questions, there is a sentence of which some parts have been jumbled up.
Rearrange these parts which are labelled as A, B, C, D to produce the correct sentence. Choose

among the alternatives
EDUCATION is —

(a) Of the proper sense of responsibilities

(b) The first need

(c) In a citizen

(d) For the development
Sequence should be -

O
B.D,A C

O
D,C.B.A
O

A/ B,C,D

O
C,AB,D

Question(225)

(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):15

In the given question there is a sentence of which some parts have been jumbled up. Rearrange
these parts which are labelled as A,B,C,D to produce the correct sentence.

Choose among the alternatives
A French woman

(a) Committed suicide

(b) Where she had put up

(c) Who had come to Kolkata

(d) By jumping from the balcony of the hotel

Sequence should be -
O AB,C,D
O c,AD,B
O Db,C,AB
O B,AC,D

Question(226)

(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):16

In the given question there is a sentence of which some parts have been jumbled up. Rearrange
these parts which are labelled as A,B,C,D to produce the correct sentence.

Choose among the alternatives

It was to be

(a) Before their school examination
(b) Which was due to start
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(c) The east expedition
(d) In a month
Sequence should be -

O c,AB,D
ODb,AC,B
O A/B,C,D
O B,C,AD

Question(227)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):17

In the given question there is a sentence of which some parts have been jumbled up. Rearrange
these parts which are labelled as A, B, C, D to produce the correct sentence.

Choose among the alternatives

They felt safer

(a) To watch the mountains

(b) Of more than five miles

(c) AS they settled down

(d) From a distance

Sequence should be -

O AB,C,D
O bp,ACB
O c,A DB
O B,AC,D

Question(228)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):18

In the given question there is a sentence of which some parts have been jumbled up. Rearrange
these parts which are labelled as A, B, C, D to produce the correct sentence.

Choose among the alternatives

If you need help

(a) Promptly & politely

(b) Ask for attendants

(c) To help our customers

(d) Who have instructions

Sequence should be -

O B,D,C,A
O c,AD,B
O A,B,C,D
O D,A,B,C

Question(229)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):19

Which part of the given sentence is erroneous? In case, there is no error choose option (4)
O Sheeps are economically useful
O so they are reared
O inthe hills
O No error

Question(230)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):20

Which part of the given sentence has errors? In the case, there is no error choose option (4).
O 1 have not gone through

O The letter & so | am not aware

O ofit's content

O No error

Question(231)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):21

Which part of the given sentence has errors? In the case, there is no error choose option (4).
O This is not my business
O To give an advice to those
O Who are not sensible enough to deal with their own problems
O No error
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Question(232)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):22

Which part of the given sentence has errors? In the case, there is no error choose option (4).
O Ican’t come to you now
O Because a lot of works
O Remains to be done
O No error

Question(233)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):23

Which part of the given sentence has errors? In the case, there is no error choose option (4).
O A farmer was leading OXES
O To his field for ploughing
O Early in the morning
O No error

Question(234)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):24

Which part of the given sentence has errors? In the case, there is no error choose option (4).
O One should make
O His best efforts if one wishes to achieve
O Success in this organisation

O No error

Question(235)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):25

Which part of the given sentence has errors? In the case, there is no error choose option (4).
O ttisa

O worth watching documentary

O & you must not miss it

O No error

Question(236)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):26

Directions : A part of the sentence is underlined. Below are given alternatives to underlined part
which may improve the sentence. Choose the correct alternative. In case, no improvement is

needed, option (4) is the answer.
If he had time, he will call you

O

would have

O

would have been

O

has

O

No improvement

Question(237)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):27

Directions : A part of the sentence is underlined. Below are given alternatives to underlined part
which may improve the sentence. Choose the correct alternative. In case, no improvement is
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needed, option (4) is the answer

He was fined for careless driving Comment:

O * Validated By:

got fined e
O
fined

O

was to be fined

O

No improvement

QueStion(238) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):28
* Question Level: Select Level v

Directions : A part of the sentence is underlined. Below are given alternatives to underlined part
which may improve the sentence. Choose the correct alternative. In case, no improvement is Comment:
needed, option (4) is the answer
When the examinations were over_Anil & Me went to our home town
* Validated By:

o e

Me & Anil

O
Anil &1

O
1 & Anil

O

No improvement

Question(239) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):29

* Question Level: Select Level v
Directions : A part of the sentence is underlined. Below are given alternatives to underlined part
which may improve the sentence. Choose the correct alternative. In case, no improvement is Comment:
needed, option (4) is the answer
My friend was in hospital for a week after an accident

* Validated By:

0
i

through

O

following

O

for

O

No improvement

Question(240) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):30

* Question Level: Select Level v
Directions : A part of the sentence is underlined. Below are given alternatives to underlined part
which may improve the sentence. Choose the correct alternative. In case, no improvement is Comment:
needed, option (4) is the answer
| shall be grateful to you if you are of help to me now
* Validated By:

© e

help

O
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would help

©)
helped

O

No improvement

Question(241) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):31

* Question Level: Select Level v
Directions : A part of the sentence is underlined. Below are given alternatives to underlined part
which may improve the sentence. Choose the correct alternative. In case, no improvement is Comment:
needed, option (4) is the answer
Please make it a point to send a letter_at my address.

* Validated By:

O

on my address

SUDIT

O

to my address

O

in my address

O

No improvement

Question(242) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):32
* Question Level: Select Level v

Directions : A part of the sentence is underlined. Below are given alternatives to underlined part
which may improve the sentence. Choose the correct alternative. In case, no improvement is Comment:
needed, option (4) is the answer
By the time he arrived everybody had gone home.
* Validated By:

O

when he arrived

O

at which he arrived

O

by which he arrived

O

No improvement

QueStion(243) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):33
* Question Level: Select Level v

A sentence consist of a underlined word followed by four words.
Select the word which is opposite in meaning to the underlined Comment:

All care is futile in a cureless case.
* Validated By:

O

waste

O

expensive

O

useful

O

cheap

gcollegedunias
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Question(244)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):34

In a given sentence one word is understand, each sentence is followed by four words.
Select the word which is opposite in meaning to the individual word

The story you have just told is INCREDIBLE.

O

credible

O

fantastic

@)
probable

O

believable

Question(245)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):35

Directions : A part of the sentence is underlined. Below are given alternatives to underlined part
which may improve the sentence. Choose the correct alternative. In case, no improvement is
needed, option (4) is the answer

The doctor_captured the first vehicle that approached and ordered the driver to take the injured
man to the hospital

O
caught

O

commandeered

O

interrupted

O

No improvement

Question(246)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):36

In each of the following questions, choose the option which can be substituted for the given
words/ sentence

A book of names & addresses
O

Diary

O

Directory

O

Manual

O

Catalogue

Question(247)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):37
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In each of the following questions, choose the option which can be substituted for the given
words/ sentence

One who has long experience

(©)

Novice

(@)

Practitioner

O
Expert

(©)

Veteran

Question(248)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):38

As society becomes more and more efficient, people would prefer to work shorter hours at their
regular employment so that they may enjoy longer hours of leisure during which they can
indulge in more congenial activities. They will not like to waste their time performing routine
domestic chores, which tend to sap their energy. The idea of a Robot Slave which would be
capable of performing many of these monotonous chores is one that appeals to many. Already
robots are used in mines & factories to perform tasks which are too risky for human beings.

It takes a lot of research by dedicated scientists & sufficient financial backing for a
model to be developed to perform a new task. This in turn depends on the number of
people who feel the need for a robot to perform these specific tasks. A domestic robot
slave with it’s own computer response mechanism & source of power, which can be
programmed to perform certain specific tasks is not an impossibility .

Read the passage carefully & answer the questions that follow.

In an efficient society, people prefer to work shorter hours because

O
They are lazy

(@)

They do not have the strength to work

(©)

They want time to carry out other activities

O
They abhor their work

Question(249)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):39

As society becomes more and more efficient, people would prefer to work shorter hours at their
regular employment so that they may enjoy longer hours of leisure during which they can
indulge in more congenial activities. They will not like to waste their time performing routine
domestic chores, which tend to sap their energy. The idea of a Robot Slave which would be
capable of performing many of these monotonous chores is one that appeals to many. Already
robots are used in mines & factories to perform tasks which are too risky for human beings.

It takes a lot of research by dedicated scientists & sufficient financial backing for a
model to be developed to perform a new task. This in turn depends on the number of
people who feel the need for a robot to perform these specific tasks. A domestic robot
slave with it’s own computer response mechanism & source of power, which can be
programmed to perform certain specific tasks is not an impossibility .

Read the passage carefully & answer the questions that follow.

Domestic chores

(@)

are welcome by housewives

(©)

are too demanding

(@)
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lead to family discord

(@)

are too time consuming

Question(250)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):40

As society becomes more and more efficient, people would prefer to work shorter hours at their
regular employment so that they may enjoy longer hours of leisure during which they can
indulge in more congenial activities. They will not like to waste their time performing routine
domestic chores, which tend to sap their energy. The idea of a Robot Slave which would be
capable of performing many of these monotonous chores is one that appeals to many. Already
robots are used in mines & factories to perform tasks which are too risky for human beings.

It takes a lot of research by dedicated scientists & sufficient financial backing for a
model to be developed to perform a new task. This in turn depends on the number of
people who feel the need for a robot to perform these specific tasks. A domestic robot
slave with it’s own computer response mechanism & source of power, which can be
programmed to perform certain specific tasks is not an impossibility .

Read the following passage carefully & answer the questions that follow.
Robots are already used in mines and factories to perform

(@)

hazardous tasks

(©)

Tasks with greater efficiency

(@)

Tasks which lead to economy in operation

(@)

Task which are forbidden by labour laws

Question(251)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):41

As society becomes more and more efficient, people would prefer to work shorter hours at their
regular employment so that they may enjoy longer hours of leisure during which they can
indulge in more congenial activities. They will not like to waste their time performing routine
domestic chores, which tend to sap their energy. The idea of a Robot Slave which would be
capable of performing many of these monotonous chores is one that appeals to many. Already
robots are used in mines & factories to perform tasks which are too risky for human beings.

It takes a lot of research by dedicated scientists & sufficient financial backing for a
model to be developed to perform a new task. This in turn depends on the number of
people who feel the need for a robot to perform these specific tasks. A domestic robot
slave with it’s own computer response mechanism & source of power, which can be
programmed to perform certain specific tasks is not an impossibility .

Read the following passage carefully & answer the questions that follow.
Developing a robot capable of performing a new task

(©)

is difficult for the scientist

(©)

is impossible for the scientists

(@)

requires huge capital

(©)

depends on the number of people who require it

Question(252)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):42

As society becomes more and more efficient, people would prefer to work shorter hours at their
regular employment so that they may enjoy longer hours of leisure during which they can
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indulge in more congenial activities. They will not like to waste their time performing routine
domestic chores, which tend to sap their energy. The idea of a Robot Slave which would be
capable of performing many of these monotonous chores is one that appeals to many. Already
robots are used in mines & factories to perform tasks which are too risky for human beings.

It takes a lot of research by dedicated scientists & sufficient financial backing for a
model to be developed to perform a new task. This in turn depends on the number of
people who feel the need for a robot to perform these specific tasks. A domestic robot
slave with it’s own computer response mechanism & source of power, which can be
programmed to perform certain specific tasks is not an impossibility .

Choose the synonym of LEISURE

(©)

labour

(@)

work

(@)

employment

(©)

recreation

Question(253)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):43

As society becomes more and more efficient, people would prefer to work shorter hours at their
regular employment so that they may enjoy longer hours of leisure during which they can
indulge in more congenial activities. They will not like to waste their time performing routine
domestic chores, which tend to sap their energy. The idea of a Robot Slave which would be
capable of performing many of these monotonous chores is one that appeals to many. Already
robots are used in mines & factories to perform tasks which are too risky for human beings.

It takes a lot of research by dedicated scientists & sufficient financial backing for a
model to be developed to perform a new task. This in turn depends on the number of
people who feel the need for a robot to perform these specific tasks. A domestic robot
slave with it’s own computer response mechanism & source of power, which can be
programmed to perform certain specific tasks is not an impossibility .

Choose the antonym of AFFLUENT.

O
wealthy

(@)

rich

(@)

prosperous

(©)

impoverished

Question(254)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):44

| was late bloomer & always envied those people who stood out in high school because | didn’t. |
learned early on, although, that it’s essential to set yourself from the group. Life is one struggle
after one another to succeed, particularly when you are starting out. If your bio data is sitting at
the bottom of a pile of junk mail, sometimes a distinctive approach will get you noticed,
especially if the competition is fierce. My partner Jerry & | decided that we would write scripts for
the minor character because that’s what was needed & we needed to set ourselves apart.

In the first script, Jerry & | wrote a school — girl falls in love with a boy in her class. The
producers loved the story. And with that one script, Jerry & | were no longer just another
comedy writing team.

Read each of the following passage carefully answer the questions that follow
The author is of the opinion that

(@)

one should be part of the group

(©)
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one should be different from others

O
it is important to do well in high school
O

one should heed to the advice of the senior

Question(255)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):45

| was late bloomer & always envied those people who stood out in high school because | didn’t. |
learned early on, although, that it’s essential to set yourself from the group. Life is one struggle
after one another to succeed, particularly when you are starting out. If your bio data is sitting at
the bottom of a pile of junk mail, sometimes a distinctive approach will get you noticed,
especially if the competition is fierce. My partner Jerry & | decided that we would write scripts for
the minor character because that’s what was needed & we needed to set ourselves apart.

In the first script, Jerry & | wrote a school — girl falls in love with a boy in her class. The
producers loved the story. And with that one script, Jerry & | were no longer just another
comedy writing team.

Read each of the following passage carefully answer the questions that follow
The author has been

O

into advertising business

O

a comedy writer

O

a music director

O

a news reader

Question(256)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):46

| was late bloomer & always envied those people who stood out in high school because | didn’t. |
learned early on, although, that it’s essential to set yourself from the group. Life is one struggle
after one another to succeed, particularly when you are starting out. If your bio data is sitting at
the bottom of a pile of junk mail, sometimes a distinctive approach will get you noticed,
especially if the competition is fierce. My partner Jerry & | decided that we would write scripts for
the minor character because that’s what was needed & we needed to set ourselves apart.

In the first script, Jerry & | wrote a school — girl falls in love with a boy in her class. The
producers loved the story. And with that one script, Jerry & | were no longer just another
comedy writing team.

Read each of the following passage carefully answer the questions that follow
According to the author

O

one should be meticulous in preparing his bio data

O

Competition in the job market is very fierce

O

One should follow conservative approach in bio data preparation

O

One should try to get noticed by being innovative

Question(257)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):47

| was late bloomer & always envied those people who stood out in high school because | didn’t. |
learned early on, although, that it’s essential to set yourself from the group. Life is one struggle
after one another to succeed, particularly when you are starting out. If your bio data is sitting at
the bottom of a pile of junk mail, sometimes a distinctive approach will get you noticed,
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especially if the competition is fierce. My partner Jerry & | decided that we would write scripts for
the minor character because that’s what was needed & we needed to set ourselves apart.

In the first script, Jerry & | wrote a school — girl falls in love with a boy in her class. The
producers loved the story. And with that one script, Jerry & | were no longer just another
comedy writing team.

Read each of the following passage carefully answer the questions that follow
Jerry & author wrote scripts for the minor characters

(©)

to realise their creative potential

(@)

to earn more money

(@)

to establish a different image

(©)

because they did not have enough work

Question(258)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):48

| was late bloomer & always envied those people who stood out in high school because | didn’t. |
learned early on, although, that it’s essential to set yourself from the group. Life is one struggle
after one another to succeed, particularly when you are starting out. If your bio data is sitting at
the bottom of a pile of junk mail, sometimes a distinctive approach will get you noticed,
especially if the competition is fierce. My partner Jerry & | decided that we would write scripts for
the minor character because that’s what was needed & we needed to set ourselves apart.

In the first script, Jerry & | wrote a school — girl falls in love with a boy in her class. The
producers loved the story. And with that one script, Jerry & | were no longer just another
comedy writing team.

Read each of the following passage carefully answer the questions that follow
Give/ select the synonym of STRUGGLE

(@)

calm

(©)

peace

(@)

accord

(@)

clash

Question(259)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):49

| was late bloomer & always envied those people who stood out in high school because | didn’t. |
learned early on, although, that it’s essential to set yourself from the group. Life is one struggle
after one another to succeed, particularly when you are starting out. If your bio data is sitting at
the bottom of a pile of junk mail, sometimes a distinctive approach will get you noticed,
especially if the competition is fierce. My partner Jerry & | decided that we would write scripts for
the minor character because that’s what was needed & we needed to set ourselves apart.

In the first script, Jerry & | wrote a school — girl falls in love with a boy in her class. The
producers loved the story. And with that one script, Jerry & | were no longer just another
comedy writing team.

Read each of the following passage carefully answer the questions that follow
Select the antonym of COMPETITION

(©)

harmony

(@)

game

O
fight
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(@)

clash

Question(260)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):50

Even in the most primitive societies, the great majority of people satisfy a large part of their
material needs by exchanging goods and services. Very few people indeed can make for
themselves everything they need — all their food, their clothes, their housing, their tools. Ever
since men started living in communities, they have been satisfying their needs by means of
specialization & exchange; increasingly each individual has concentrated on what he can do
best & has produced more of the special goods or services, in which he has concentrated, than
he can consume himself. The surplus he has exchanged with other members of the community,
acquiring in exchange the things he needs that others have produced.

Read each of the following passage carefully answer the questions that follow
According to the passage, the great majority of people can satisfy their needs by

(@)

providing things for themselves

(©)

exchanging goods & services

(@)

concentrating on what they can do best

(@)

individual specialisation

Question(261)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):51

Even in the most primitive societies, the great majority of people satisfy a large part of their
material needs by exchanging goods and services. Very few people indeed can make for
themselves everything they need — all their food, their clothes, their housing, their tools. Ever
since men started living in communities, they have been satisfying their needs by means of
specialization & exchange; increasingly each individual has concentrated on what he can do
best & has produced more of the special goods or services, in which he has concentrated, than
he can consume himself. The surplus he has exchanged with other members of the community,
acquiring in exchange the things he needs that others have produced.

Read each of the following passage carefully answer the questions that follow
Exchange of goods becomes possible only when

(©)

there is no specialisation

(@)

goods are produced in surplus

(@)

primitive society becomes modern

(©)

individuals make things for themselves

Question(262)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):52

Even in the most primitive societies, the great majority of people satisfy a large part of their
material needs by exchanging goods and services. Very few people indeed can make for
themselves everything they need — all their food, their clothes, their housing, their tools. Ever
since men started living in communities, they have been satisfying their needs by means of
specialization & exchange; increasingly each individual has concentrated on what he can do
best & has produced more of the special goods or services, in which he has concentrated, than
he can consume himself. The surplus he has exchanged with other members of the community,
acquiring in exchange the things he needs that others have produced.

Read each of the following passage carefully answer the questions that follow
Specialization & exchange began when men started

(@)
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big industries

O

concentrating on their work

O

producing things for individual use

O

living in communities

Question(263)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):53

Even in the most primitive societies, the great majority of people satisfy a large part of their
material needs by exchanging goods and services. Very few people indeed can make for
themselves everything they need - all their food, their clothes, their housing, their tools. Ever
since men started living in communities, they have been satisfying their needs by means of
specialization & exchange; increasingly each individual has concentrated on what he can do
best & has produced more of the special goods or services, in which he has concentrated, than
he can consume himself. The surplus he has exchanged with other members of the community,
acquiring in exchange the things he needs that others have produced.

Read each of the following passage carefully answer the questions that follow
Exchange of good & services becomes necessary because

O

man is a social being

O

reciprocity is the law of life

O

trade & commerce are means of progress

O

we cannot produce everything we need for ourselves

Question(264)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):54

It is no doubt true that we cannot go through life without sorrow. There can be no sunshine
without shadow, we must not complain that Roses have thorns but rather be grateful that thorns
bear flowers. Our existence here is so complex that we must expect much sorrows suffering. Yet
it is certain that no man was ever discontented with the world who did his duty in it. The world

is like a looking glass : if you smile, it smiles, if you frown, it frowns back . Always try then to
look at the bright side of things. There are source persons whose very presence seems like a ray
of sunshine & brightens the whole room. Life has been described as a comedy to those who
think and a tragedy to those who feel.

Read each of the following passage carefully answer the questions that follow
The author says that we cannot go through life without sorrow because

O

It is our fate

O

We are always discontented

O

life is a tragedy

O

human life is very complex

Question(265)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):55

It is no doubt true that we cannot go through life without sorrow. There can be no sunshine
without shadow, we must not complain that Roses have thorns but rather be grateful that thorns
bear flowers. Our existence here is so complex that we must expect much sorrows suffering. Yet
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it is certain that no man was ever discontented with the world who did his duty in it. The world is
like a looking glass : if you smile, it smiles, if you frown, it frowns back . Always try then to look
at the bright side of things. There are source persons whose very presence seems like a ray of
sunshine & brightens the whole room. Life has been described as a comedy to those who think
and a tragedy to those who feel.

Read each of the following passage carefully answer the questions that follow
According to author, no man can be discontented with the world if he

(©)

is determined to be happy

(@)

is aware of discharging his duties

O
has a healthy attitude to life

(©)

likes sunshine

Question(266)
(Stream: NCHM NTA Set B , Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):56

It is no doubt true that we cannot go through life without sorrow. There can be no sunshine
without shadow, we must not complain that Roses have thorns but rather be grateful that thorns
bear flowers. Our existence here is so complex that we must expect much sorrows suffering. Yet
it is certain that no man was ever discontented with the world who did his duty in it. The world

is like a looking glass : if you smile, it smiles, if you frown it, frowns back . Always try then to
look at the bright side of things. There are source persons whose very presence seems like a ray
of sunshine & brightens the whole room. Life has been described as a comedy to those who
think and a tragedy to those who feel.

Read each of the following passage carefully answer the questions that follow
The expression ‘LIFE IS A TRAGEDY TO THOSE WHO FEEL’ mean that it is tragedy to those who

O
think about the world

(©)

believe in fate

(©)

do not understand the world

(@)

are sensitive & emotional

Question(267)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):57

It is no doubt true that we cannot go through life without sorrow. There can be no sunshine
without shadow, we must not complain that Roses have thorns but rather be grateful that thorns
bear flowers. Our existence here is so complex that we must expect much sorrows suffering. Yet
it is certain that no man was ever discontented with the world who did his duty in it. The world

is like a looking glass : if you smile, it smiles, if you frown, it frowns back . Always try then to
look at the bright side of things. There are source persons whose very presence seems like a ray
of sunshine & brightens the whole room. Life has been described as a comedy to those who
think and a tragedy to those who feel.

Read each of the following passage carefully answer the questions that follow

The author says there are some persons whose very presence seems like a ray of sunshine &
brightens the whole room. The reason for this is that, they

(©)

Have the capacity to love

(@)

Talk more of roses less of thorns

O
are happy & spread happiness

(@)

look good & behave well
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Question(268)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):58

It is no doubt true that we cannot go through life without sorrow. There can be no sunshine
without shadow, we must not complain that Roses have thorns but rather be grateful that thorns
bear flowers. Our existence here is so complex that we must expect much sorrows suffering. Yet
it is certain that no man was ever discontented with the world who did his duty in it. The world

is like a looking glass : if you smile, it smiles, if you frown, it frowns back . Always try then to
look at the bright side of things. There are source persons whose very presence seems like a ray
of sunshine & brightens the whole room. Life has been described as a comedy to those who
think and a tragedy to those who feel.

Read each of the following passage carefully answer the questions that follow

What is the author’s i ge in their p ge?
O
Look at the bright side of things
O
Our existence is so complex
O
The world is a looking glass
O

Expect much sorrow & suffering

Question(269)
(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):59

It is no doubt true that we cannot go through life without sorrow. There can be no sunshine
without shadow, we must not complain that Roses have thorns but rather be grateful that thorns
bear flowers. Our existence here is so complex that we must expect much sorrows suffering. Yet
it is certain that no man was ever discontented with the world who did his duty in it. The world

is like a looking glass : if you smile, it smiles, if you frown, it frowns back . Always try then to
look at the bright side of things. There are source persons whose very presence seems like a ray
of sunshine & brightens the whole room. Life has been described as a comedy to those who
think and a tragedy to those who feel.

Read each of the following passage carefully answer the questions that follow
Which part of the given sentence has errors? In case, there is no error, choose option (4).

O
My father is

O

in bad mood

O
today

O

No error

Question(270)
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A co-worker shouts at you due to some misunderstanding at work place,
TS ATIHT EQuRIGE ¥ HRU FW

O Shout back at the co-worker

T § IR-GIR & e
O Create a scene by staging a walkout
TTER FH R T THIRN TSl Bl |
O Ask the co-worker to calm down & try to talk it out

TEHH! Y T I/ Ta 1A B B IR B

O Do nothing, but sulk
TS 8l A b ad o |

, STq
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On particularly heavy rush day in a shopping mall, you are in a queue to take the lift. A person in
a wheelchair comes by. You tend to Comment:

e T Aid # fdt aga fis-urs ara fam, s e & arg1 & @S B, ta =i, 53ft €,

el AR H TP T 3HTelT § 3R I = § & oy *Validated By:

O
Wait and see what others are doing

SR &R T8 37T & ey afe s v @ B
@)

Do nothing , but wait in your place only
TS T8 B, AT TG | Had SR R
O
Immediately offer your place
TR I ST W T &
O

Pretend you never noticed them

TEHT B S 3T I 3FCE HR 2|

Question(272) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):62
* Question Level: Select Level v

At your workplace you have been nick named, which you do not appreciate, You will
| SITURY T SUTTH FaT 1T & 1 TS 3resT Tl &l 2, Y 1 HIA? Comment:
O
Still go along, just to appease everyone
U TR T AT, T B g Rew Soorm
O

Complaint to your Superior
i Eadl

* Validated By:

©)
Start calling names to others as well
31 Y 19 AR gand |

©)

Take a stand for yourself and end the name calling

Y TP WS T 3R I A1 | AT a¢ Be|

Question(273) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):63
* Question Level: Select Level v

Your childhood friend unexpectedly visits you on a very important day of work, you will :

JTUHT TH TIU BT I AT DY & HAfIh Ageaqul foT i MR e ST 34T ST §, 39 Comment:
O

Ask him to leave as he did not |nform you

IR e [ 3T B T 1t & ot gfere 99 sgul
@)

Greet him warmly, offer him to stay at your place till you return from work

IHT THIRIT T WHTT B3 3R I 3P B I 3 P, 307 VM F 3R B B g |
@)

Call your workplace and ask for leave

Pl B B AHY g SRIY B

* Validated By:

O

Take him along to your office
U 1Y HrAf A T |
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Question(274)

(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECI%ues
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Your co-worker is constantly harping about a mistake you made. You will

TUHT AEHHT ISP TR TS T & IR § IR-GR G feardl g 8, ST

O

Acknowledge your mistake & ask him to stop pointing out in a calm manner

T B WHR B, I Wi T T 7 g BT 3FRIY B
O

Ask him to keep his mouth shut

I U G B 4B S|
O

Point out his mistakes in return

oo 7 Y IYH! Tl BT e R
O

Stop talking to the co-worker
Y 91 HAT G PR G

Question(275)

(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):6

Your best friend constantly degrades and demeans you in front of your family & friends, You will

mmmmmwwmﬁ%wmmm@mm%

O

Start doing the same to him

I AT o SR 39 TR H &1 DY 3R BSRAT I 3 3¢ B B g |
@)

Tell him about the issue in private and firmly ask him to stop
37 1t 3T VAT FIER FRAT URW R & |

O

Wait for him to repeat his behaviour and confront him publicly

VY TAER Bl TRIGRT B BT ZAR BHY 3R Fadh T I TSTS Be|

O

Slowly but surely cut him out of your life

FR-¢R At guf =0 & ST GehRI UM BT SRR B

Question(276)

You have a room reserved for a hotel. When you reach the hotel, you find that there is no

booking in your name, you will :

T T Ehe & ST G Rpa1 21 T 370 Ge UEEa & A Ss) e e @ R e A W

IS HHA TP o1 8, M7
@)

Loose your cool and demand a room immediately
SHfres TR R SR R HHR BT T B4
@)

Show them your booklng and give them time to workout the situation

3ol e 3% feane ofR 3 R e o1 g 3
O

Immediately ask to meet the General manager

R TR AR I e Bt BRI B4
O

Ask for a refund

-aT9 & g wea|
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QueStlon(277) urrenl Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):6
* Question Level: Select Level v

In your college, you have been made a team leader for an upcoming prestigious event. You tend

mmmﬁﬁmaﬁmﬁuﬁamﬁm%ﬁméﬁﬁwﬁmw% 3T FIT B2

* Validated By:
O

Comment:

Boast about the opportunlty to everyone SUBITI
3 3R B G GUdT feamai |
O
Shrug away the responsibility to someone else
39 et &1 fpdlt oiR & ferw s 371
O
Accept it and somehow make it work
wHHR B¢ 3R 5t e F s |
O

Be thankful for the opportunity and prepare for the same
T AR F AT 4=1aTE < 3R 3! R AR

QueStion(278) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):68
* Question Level: Select Level v

Your food delivery boy has delivered the wrong order to you, You will :
TP W 7 a1 afed = Ty e @ & faam 8, oy Fam w32 Comment:

O
Take the wrong order and shoo him away
A T A AT TR Y M S ST
O
Shout at him badly and slam the door on his face
IR SR A R 3R 39& T AT 9k 9§ §8 B 47|
O

Take the wrong order and complaln to Customer Care for full refund

AT SR T SR Teeh Va1 R 9 &1 ot bt Risvrad w3 |
O

Ask the delivery boy to rectify the mistake and get the correct order

WM 3 aTel S Tt 1 GR bR B g 3R Tal A U I |

* Validated By:

Question(279) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):69
* Question Level: Select Level v

As a House Captain of your college, you will take your decisions by

% TS g$HH HPH P dR W 991 |, 317 3o fofa $& a7 Comment:
(@)

Discussing with family
Taf | SToTT

* Validated By:

O

Discussing with friends

R 1 Farg A
O

Discussing with your House — team mates
TS & 4 9 HA W

O

Leting your teammates take a decision for you
FHY ¢ s forg kg &1
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Question(280) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):7%
“Question Level] Select Level v

You borrowed a precious ring from your friend for a marriage function. Somehow you lost the
same, you will: Comment:

Tt TARIE ¥ R o fort § g AEt st SuR off ofk 9w frelt v & T A E, ey
T H? * Validated By:
O o .-.‘..-
Buy a similar one and never tell your friend that you lost her ring
I UbR B SIS Wi B &S AR S o b SIS} A B bl T AR &
O
Admit to your friend that you lost the rlng and then replace it
37T T b1 SISt T § B e €, 7 I8 7S TG BR S
O
Will be casual about the loss
3P M EH W BIS AF AL
O

Give her one of your rings

I o T SISt T T

Question(281) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):71
* Question Level: Select Level v

As a Team member, your co-workers should describe you as

& Tew F IR W TS ghH! 3MUP! U8 9a fh a8 Comment:
O

Hesitant

* Validated By:

O

Reluctant

O

Involved in encouragement

O

Initiative taker

Question(282) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):72

* Question Level: Select Level v
You return home, all tired, after a hard day in College. Your Mom asks you to run a small errand
from market Comment:

Pl & Hie =1 B T, 3T TR T UP B 3T &1 ATTP! HIGTS ATTH! ToR | GISH Th
BieT 91 9 91 $) Hedl §

* Validated By:

O L i
You think of ways to refuse her o

3TUDT I A B P TR 3 B
O

You tell her that she is insensitive
3T I SRfdeETRAd FEd &

O

You run the errand as expected of you

ST ST F SHTFT MY I T & Y 18 IS &
@)

You ask a friend to run the errand for you

3T MU 1 &1 38 a1 8 Fgd
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Question(283) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):73

* Question Level: Select Level v
As a manager, you are hiring for your Restaurant. You will select a candidate who is primarily

T WeNT P AAoR & IR W, 3T N1 BT TR B T8 & | 37 WX 3 1 79+ H39) R gera: Comment:
fFrafafaa @

O

Very studious SUBITII

* Validated By:

O

Extrovert and social

ESEEISIRC
@)
Quiet and calm
U] e 2id SAfad
@)

Assertive
HHRTHD

Question(284) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):74
* Question Level: Select Level v

While preparing for any project, you tend to
Eal , SITY =T P2 Comment:

O

Panic and start devoting all your time on hand
IR, TS U TS H1H TR GRT GH7F 0 | STt

* Validated By:

O
Prepare as required & take your time to finish
SOET F SHTER, TR IR, IY B H 3701 7 |
@)
Leave the work for the last few days
o P sifon po il & fow ais &1
@)

Plan the work as per deadline in a phased manner
P & Fufftd T & SIuR Bt TRUR TreHT T |

Question(285) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):75
* Question Level: Select Level v

In your friends circle, you notice that your friend ‘A’ makes fun of your friend ‘B’s dressing
sense. You will : Comment:

3P S| b AT 3T 3T & P MuspT i @ ug=a & Joy # i ‘o 3t &) Seran @ 8

* Validated By:
O

Don’t react and remain quiet O

ufafsear 7 2 iR Aa R

O

Pick up a fight with ‘A’
T F G TSE FRATYS IR S|

O

Reprimand your friend ‘B’ for being quiet

id T8 & forw omu o ‘& 1 sie @)
O

Politely tell your friend ‘A’ to avoid personal remarks

F 1Y, 39 i T & faard fewoft 9 &9 & B

collegedunia:s
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Question(286) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):76
* Question Level: Select Level v
While giving a presentation in office, one of your colleagues logically criticises you. You tend to :
T T UG IRU1 39 THY, TYHT U TehHT qaquiar ¥ US| ATe =T ST 8 | 37 Comment:
O * Validated By:

Understand why he did so, & correct your mistake

T B b 38 Qr o fobam iR it Tt Y goed AR A B
O

Correct your mistake, but distant yourself from him

T Bl G FR A § W 3T G S AT T

O

Ask him not to interfere in your work

I 3P T & g A gEasiEwel 8¢ B B B
@)

Tell all your friends at work to stop talking to him

P IR 3T Tt o @ R 6 9 o1 Rt dg AR &

QueSt'on(ZB-’) urrenl Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):7
* Question Level: Select Level v
Your Manager has assigned you a project. This is an ongoing project. You will:
TP 3 SATUD! TH W A1 A9 g1 T8 TP FaR gard arelt ufeairsn g1 sma Comment:

O * Validated By:

Come up with new ideas and use them only
U ARt & Ty SRR Hae I BT ITNT B Suomm

O

Avoid new ideas as it might involve risk

Tt T forem 1 oS € T g9 SifeH g 9o o |
O

Mix the old ways with new innovative ideas

EIEECIG NN CEINE AR ECKaY
O

Consult your Manager & Team and then come up with suitable plan

TSP AT Y R B, 99 UG T BT YR H3 |

Questlon(288) urrenl Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):7
* Question Level: Select Level v

Challenges at workplace

Comment:

O

Are not welcome for you

3P gRT WA 18] {bar S g1 SUom

* Validated By:

O

Result in low motivation for you

39 o =g TR &1 ufRomA |
O

Motivate you to work harder & find solutions

Tfem 3 T e &Y SFMRG BY 3R JHIYT &) T HY |
O

Result in changing the job for you

3 fore site ufkea @1 afkom|
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Question(289) urrent Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):7
* Question Level: Select Level v

At working, your sub — ordinate accidentally spills water on you. You should :

qfeh T T B SR, TUHT ey SR, gHeT A MU HUR U STel aal 8, 3T Gomment:
@)

Throw water back at him

TP HWR oy urf fiRT 1 SUoTm

* Validated By:

O

Laugh it off and make him comfortable
THPR I T IR G|

O

Say nothing but take a mental note

Pt TS o], R Y feArT &
O

Shout at him for spoiling your dress

PUS TRE HA R, IY W SR  Freemy|

Question(290) urrent Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):8
* Question Level: Select Level v

You work with full loyalty and dedication. Some of your co-workers are jealous of your work
ethics. You will : Comment:

mgﬁ@mﬁ@mﬁw%mvmmﬁ%wwmwﬁmwwﬁm%m
Pd 8 MY )
* Validated By:
O
Get frustrated with their behaviour

JT% TIGR I IR 8 WL |
@)

Confront them head on & raise issues

SMA-ITHA @S Y Ud AA & 14|
O

Start bitching about them

JDT A AT TR TR S |
O

Give no reaction and continue with your work as usual
HIE wfafehar 71 & SR TURITRT 30T $TH HRd F

Question(291) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):81
* Question Level: Select Level v

You are about to leave the College for a party, when your Faculty member asks you to stay back
for an hour or more to finish a task. You will : Comment:

31T 37 Bierel ¥ T U § T g1 & forg T 81 a1l @, 9t eiuss HhTa 3ue! &TH B1
RIHA & T T HeT 3YaT 3ifie THY 9 TP &) Hed & 37

* Validated By:
O
Stay back and give your best
T ST R O A1 I HW B g B
O
Ask all your friends also to stay back
S o 1 ot ¥ F w8 |
©)
Refuse to stay back
FRmamaRdl
@)

Quietly sneak out without informing anyone

feft &1 S fom g 9 Fed S|
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Question(292) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):82
* Question Level: Select Level v

During the annual promotions at work you feel that you have been given a raw deal as compared
to your Junior Comment:

T a1 wEHAfa & SR, 3MUGHT B4 ¢ fb MU Sud By Bt ga-n & IR =

8 Rre &:

O

Accuse your Manager of favouring him
IHT Ul o & I Teue IR QIR B |

O

Do nothing but sulk
TS Tl B Sfep 3T B |

O

Report to the HR Department
Ta e e & ROE &

* Validated By:

O

Approach your Boss, discuss and ask for reconsideration

19 T B3, T\ DY SR GHAER P oW B

Question(293) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):83
* Question Level: Select Level v

You tend to get angry very easily, you should :

3T TS ST F AT 8 914 &, 317 Comment:
O

Start meditation to control the same
I HRAT IR a, 39 i &1 Saorm

* Validated By:

O
Display your anger as you are always right
ST T feraTe i sy T A B
O
Walk away from problematic situations
TR R @ FAed S|
O

Divert your anger to someone who knows your nature

YD TPl B S aTel ot AT TR ST 81 AT |

QueStion(294) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):84
* Question Level: Select Level v

An employee of your Team is a habitual late comer. You as a Boss will :

3MUPT 19 BT TP TG ATGaT o1 T M1 &1 919 & dIk R 3017 Comment:
@)

Approach him, try to find the reason for his late coming
{ 3 BT BRI BT Yal TR Saor

* Validated By:

@)
Report the matter to HR Department

Mg 1Y faumT @ 35! Rad 95
O

Call him to your Office and reprimand him

T P H gaehR, 3§ HehR T

O

Issue a warning letter to him

I TP a0 IR B
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Question(295) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):85
* Question Level: Select Level v

You are travelling with a friend in a car. You notice your friend jumping Red lights. You will :
3T 3= fT & A1 R & a1 X 3B B 1 39 ST ¢ {5 MUt g a1 il pTIdR SR IaT 36T Comment:
HEIL]

* Validated By:

O

Do nothing, just watch SUDITIT

PO I, Had 3T 38|
@)

Will advise him immediately & make sure he follows the traffic rules

TR 3T qaTE ¢ b 98 aramrd FHawl &1 urer 3awd B
O

Tell him to follow the traffic rules casually

3V &R & a8 H -t ararma FHadt o1 uee o B
O

Tell your common friends behind his back about this incident

3 T SRl § 3P Uiey 3 "1 &1 fofd d |

Question(296) urrenl Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):8
* Question Level: Select Level v

You get to know that your Colleague is facing some work related issues.

STUH Uar Ierdl 8 {6 et Geedl oo srivedt gl &1 ghraar s 36T e Comment;
©)

You try to avoid your Colleague at all costs
faret off fRUFY 7 3 o1 el 1 ToRSIETS B BT BRI HRA 7 Seom
@)

You advise him/her and let them take the|r own decision
31T I T8 <4l § b 9% o Fofa wd @

* Validated By:

O

You support him/her in your full capacity and help in resolving the matter
3T I ST G T & TEUT R § SR YehR0T & YHIYH H WeRIS §d ¢
O

You out rightly refuse to help him/her

3MY TheH 37! gl et B gl

Question(297) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):87
* Question Level: Select Level v

You join your College post School. On joining, you observe there are very few trees in the
campus, you will Comment:

THd & 916, 3TY Pae J 9 81 TeT T W AU I § fF iR A qga sads§ : oy

O * Validated By:

Expect the Management to plant more trees oI
TeeH § U T BT SR A T
@)

Approach the Management and take initiative to plant more trees
TS A HUF R, 11 U T B S Fed 7

O

Forget about the situation

59 R 1 fome 10T vl B
O

Tell your friends to do the needful

30 i ¥ 59 TR H 59 3 Bl Ped 8
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Question(298) urrenl Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):8
* Question Level: Select Level v
On your way to Office, while travelling by Metro, you find a wallet on a seat next to you. You will :
ST W, merruﬁwﬁz%mﬁwagsnuﬁ% 3TT: Comment:

O * Validated By:

Keep the wallet with you
3T 3T U 3 A B SO

@)

Submit the wallet at your destination Station to the Authorities

U B, 3T 7o ™F W, Wikebial &) g 3a 1
O

Leave it as you found, do nothing about it

W VIS G €, IR T o el BRA ¢
O

Take out the contents and leave the wallet where you found

U T IHH FoTd ad § 3R 9 & a8 i &

Question(299) urrenl Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):8
* Question Level: Select Level v

While working in a hotel, your General Manager asks you to take a transfer to another

Department. You are not happy with this decision, you will : Comment:
glcd ® $TH $IA §U, 3TUHT T Rd BAoR TUH gOR FAUTT & IR0 89 &1 Hga1 31 37 39

frofa & @ 1Y 81 oy

O

Accept as you have no choice

3US U B13 fAdhed 7 819 & BRI, 34 WHR B |

O

Try everything possible to delay / stop the transfer
RIFTR E foaw / Tard R & 9t Yud Sur Fe

* Validated By:

O

Go on leave indefinitely
ST W T WY |

O

Accept and try to learn and adjust in the new Department

HHHR B, T BT YA B 3R T YR & Freierd Sord|

Question(300) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):90
* Question Level: Select Level v

Your roommate in College is not very keen on cleanliness. Even basic hygiene is not maintained
by him / her. You will Comment:
PIeTSl BT TYPHT Hgar! ATH-TBTE b IR § Bl o9 A6l v@dl ¢ | g1 a9 [P a8 TP ATh-

m b qﬁ% S8 * Validated By:

O L i
Ignore the issue on hand & keep your area clean o

3T A R & A S 3R 30 R &) WS 9 |
@)

Inform the authorities

R & gRE B
o)

Counsel him / her and help him / her to develop a sense of responsibility

BT YTaHT S = H TganT di |

O

collegedunia:s
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Clean his / her area as well
TP = off WD B

Question(301) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):91
* Question Level: Select Level v

Your House help asks for a month’s salary in advance for the tuition fees for her child. You will :

3MTF TR BT DT AT T B S B & R1T ¢ 7 Bt Fard), o & wivrar g1 3w Comment:
O

Give the same without fuss

fom o Rep d AR T T SUoT
O

Give her the money reluctantly with a strict warning never to ask for advance

I 31T & Fert ¢ < dfehT Pft ot 31 e /i b =it i <l
O

Refuse the same rudely

TR REI TN AR
O

Refuse citing cash crunch or any other excuse

FHH Sy {3 M ¥ A TS 2

* Validated By:

Question(302) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):92
* Question Level: Select Level v

While travelling in a train, you need to dispose of waste, you see that dustbin provided in the
train is full Comment:

I § YT B UG, SATUHT PR ag3il BT e $I Pt SRed Usdl @ A 3y urd § & ¥a
# fora T R W MRTEAT R

O

Will throw it out of the running train

T ¥ B 39 91X b S|
@)

Keep it with you until next Station arrives
3 TP 3T U G|

* Validated By:

O

Dump it outside the full dustbin
R R

O

Push it under someone else’s seat

R PR WP e A @

QueStion(303) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):93
* Question Level: Select Level v

There is a fire at your work place. As a Manager, you will :
T SN IS B | UHP & T H 3T T B2 Comment:

O * Validated By:

Take control & charge of the situation and give orders
fRufay &1 Feimror vd guR & SR s & s icisian)

O

Consult your team as to what should be done

1 foraT ST 39 fore et E & Iarg

O

Ask your Supervisor to do the needful

3T THAED T HTTP PRATS B Bl gl

O
collegedunia:s
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You will first call a meeting and check who will do what

3T UEA Yo oY 3R TTP T BT (a0 B

Question(304) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):94
* Question Level: Select Level v

At a restaurant, while making the payment the credit/debit card of the Guest was declined. You,
as an employee, who is serving him will : Comment:

TP JE e § YT HRa 9873, Ay &1 Hise / Sfie #1878 aa uran| oy 39 a1 3 a1d T
AR - @
O

Destroy the card

PTS BT AT P &1
O

Assume the Guest has stolen the card

Tg AH & fop 3ifafy 3 w1 R 31
O

Request the Guest to change mode of payment

ST F oY I fF F YA &1 adiepT 95d S|
O

Tell the Guest he is a "Fraud"

A A %8 % 98 v "dRaruEiarar 21

* Validated By:

Questlon(305) urrent Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):9

Which statement on “Authority” is true? * Question Level; Se|GCt Level v
“TIRIGRY W I T FUT 81 & 2
O Authority and power are same
TSR Td T T w9 &
O Authority cannot be delegated
WRISR 1 Uarfrd e far o wwar g1
O Authority and responsibility must be considered together
Td ForRERY & e S AT S|
O Authority comes with power

T § € MR e 81

Comment:

* Validated By:

7))

Question(306) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):96
* Question Level: Select Level v

As a Manager you are required to take disciplinary action. You should :

WEH® &b U, 3TUP! SIMHATHS BRATS ST 8| 37 Comment:
O

Start arguing with the employee

PHARY b WY ITe-a1G TR™ | SUDT
©)

Enforce Policies and Rules as expected out of you

39 FefRra it ud i o anp k|
@)

Empathise with the employee

EERCGREE]

* Validated By:

O

Look out for a way, for taking action

HATE TE! P & Wb T |

Question(307) urrent Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):9

* Question Level: Select Lev~!
gcollegeduniaé
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Which of the following is of prime importance for high quality Customer Service?
m : Comment:

I T[UTGIT ATEH |aT & forg T QA I 1 Hfa Ayl 82
O * Validated By:
Managing employees
[ T Ueie| SuoTT
O
Greeting and valuing Customer
TED! BT e Td T |
O
Creating profit for Company
B P forg A et B
@)

Spending money on advertising
IR & B

Question(308) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):98
* Question Level: Select Level v

At workplace, the process of setting goals and establishing the way to achieve the same is
called : Comment:

Priwa § agal st fruivor ufhar v Sud Wity & aie] &) ST s :

O * Validated By:
Supervising orm
AT HRAT

O
Planning
SIS ST

O
Evaluating
Hedieh T DAl

O

Managing
U BT

Question(309) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):99
* Question Level: Select Level v

A Customer “Loyalty” means that customers
“YTgh ﬁ'ﬂT” Eakinen Comment:

O

will continue to come back to your Hotel

3 Bled H ST IR [T | SOOI
@)

will not say anything good/bad about your Hotel

30 Bleet & IR H 3T/ R $3 el el
O

will stay in similar Hotels

S UHR & gledl § =il
@)

will suggest similar Hotels
= PR F gleat &I 7 &

* Validated By:

Question(310) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):100
* Question Level: Select Level v

collegedunia:s
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A Customer asks the hostess in a Restaurant to arrange for a surprise birthday cake. The
hostess tells the waiter. But the cake is not arranged and the Customer leaves disappointed.
Which statement is true, as per you?

TF UIRS Gied U SUP WENT H VARG -4 P 31 aRIT H S Hodl 8| Tied dex 3  Validated By:

AT AT B, A Pob 1 a1 781 81 Urs 3R U s SRIgE Srope e S 81 MU =R A

DI FYT AL ] 2 -

SUBTTI

Comment:

O

The Customer did not make it clear what he wanted
T = ST AT P TF AR W et Farar ol

O

The hostess should have followed up for the cake as the Customer had requested her

D TIHT UTA BT AT N {3 e A STahT SFRIY fobam ot
O

The waiter was responsible to arrange the cake

IR, HP DI TARIT 5 JATEER T
O

The hostess should have refused the Guest

Bled i Mffd P §8 e PR HY &1 el

Que5ti°n(311) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):101
* Question Level: Select Level v

All restaurants serve food. Yet there are few who stand out and get popular amongst the guests.
The two factors which primarily contribute to success are : Comment:

mﬁiﬁﬁ?mfﬁaﬁ%amwmﬁsﬁﬁﬁamm@mamﬁ%s@rmﬁaﬁ
AT g S Y HEaN UG B4 8

O

Time & cleanliness

1Y T IH-THTE |

* Validated By:

SURITI

O

Food quality & guest expectations
QT Tura ud Sifafat 5 v

O

Food quality & time
el UTa<T Ud JHY |

O

Cleanliness & guest expectations
HH-9Ts T4 St &t gammy |

QueStion(312) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):102

You are travelling in train, when you see few college students planning to pull the chain just for * Question Level: Select Level v
fun, you will :

3T T Yo § AT B 7@ Eaah, MY WA ¢ 5 T Biaw & dss, AP & dR |, I Jiad 3t Comment:

IS 9T X8 §, 9T :

O with the help of the other passengers stop them from doing so * Validated By:

3 AT & TEIRT A 35 U B D FATGE BT |

O Let them pull the chain as you are also curious to see what happens SUDIT

I 9 WM ¢ F{if 3y off 5T =g d § b = iR R gl gl

O Inform the guard at the next scheduled stop but do nothing at that time
3Ta FYiRa farm R E 31 g R AT 39 9Hg 8 T8l B

O Just sit quietly and do nothing
i § ¥ R, O T R

Question(313) urrent Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):10

* Question Level: Select Level v
You have boarded a crowded bus and the bus is about to reach your destination. Due to the rush
you were unable to buy the ticket, you will : Comment:

MY TP WS UTSTTeR a0 § 43 2, IR SATTPT Tidaq T wTed) @ o aren 2, areafire Wfrs & SR,
3Ty fepe 78 @dig urd €, ey

* Validated By:
. . . collegedunia:
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O -

Get down quietly
id 7@ B a9 I IR |

O

Call the conductor and pay
HEFR DI gAT IR e o o |

O

Pay the driver instead

3P SOy, I &, ar e 3
@)

Just pay the money to fellow passenger and ask him to do the needful

3T TR A B A T R S fedhe o1 &Y e R T <

Question(314) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):104
* Question Level: Select Level v

is defined as employee’s knowledge of courtesy and the ability of the firm and the
employees to inspire trust and confidence Comment:
RITER F HHEIN F T4 TG BH &) T1dT1 Td SHATRG] & YR U9 ATy &
TR W= Ryt feam wrar

* Validated By:

O [ i

Responsiveness

O
Assurance
ST

O
Hospitality
Eidr

O

Faith
SITRIT

Que5ti°n(315) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):105
* Question Level; Select Level v

When communicating with guests, language should be
HHY, 3TUSHT UTHT §IHT A5 Comment:

* Validated By:

Complex

O

Casual

QueStion(316) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):106
* Question Level: Select Level v

A Guest Service is usually done by a hotel to
TS gled gRT AErgaan ifafy Jar wdemr Comment:

collegedunia:s
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O * Validated By:
Collect addresses of all Guests b
quft f [ SuoTm
O
Send birthday messages to all Guests
Tt srfaf o1 e Te=r O FR|
O
Find what kind of services Guests like
Al & uRie T T BT yal o AR
O
Ask for tips from all Guests
gt srfafdl @ few wieR |
Question(317) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):107
Your housemaid has invited you to her daughter’s wedding, You will : * Question Level: Select Level v
TP ITD! TS Pt TS A A fpar 1 ey :
O Ignore her completely Comment
ESEIR NGRS IR I E R
O Buy her a gift and extend all help possible Valdated By:
I fore IuER WS iR ot Tug T < w
O Attend the wedding only as a guest e
2} GURIE # Had SHafd & dR R
O Congr_atulate he_r but excuse yoursglf frpm the wedding
I YIS < R S H I F fore At wi |
Question(318) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):108
When resolving a guest complaint, the following would “NOT” normally be included * Question Level: Select Level v
TS B RIGId ST e B THY AT Fufeied $3= o) Mmira T8 fFar o &
O Reimbursing the guest with freebies Comment:
{3 Ty sifafy
O Compensation is cash or kind for pext day Validated By:
STTTH ST & fore o sruar avg & efagfal )
O Offering discounts o
O Termination of employee
Question(319) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: APLITUDE OF SERVICE SECTOR SET B, Subtopic : APLITUDE OF SERVICE SECTOR SET B):109
* Question Level: Select Level v
Guests usually complain when they
TP UTgh ATHTTAT Rrerad war %! Comment:
O * Validated By:
Want to be heard and have their experience validated m
I G T 3R I Yl B Relg & o
O
Want to have fun
oe-axd o1 g1
O
Want freebies
JUBR &I AT
@)
Want to vent out their anger
Qe & g TR o =g §

collegedunia:
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Question(320)

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):&

https://nchm.nta.ac.in//bucketing/main.jsp

Current Question Difficulty Level: 1

Jeostion Level: Select Level v

How many spokes are there in the Dharma Chakra (Ashok Chakra) depicted on the national flag

of India ?

YR & 1T a1 & wRga o a6 A fpa Y@ § 2
O 16

O 20

O 24

O 32

Question(321)

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):111

Which is the longest river in India?
YR &1 TG i T BIA-AE 2
O Yamuna
Rkall
O Ganga
Rl

O Brahmaputra
ST
O Kaveri

Question(322)

* Question Level: Select Level v
Comment:
* Validated By:
[ i

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):112

Whois the authorvof the book ‘A foreign Policy of India’ ?
T BIR UTferdt 3T A qeas & das Hi 8 2

O IK. Gujral

TS, & ORI

O LK Advani

Td.&. ST

O B.G Deshmukh
o . <=gE

O J.L Nehru
EAGERS

Question(323)

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):113

Where are gold mines in India mainly located ?
YR § 9 & @aH $1 fRua g 2

O Kolar

O Raniganj

O Veeranam

O Jadugoda

Question(324)

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):114

The national animal of Australia is : -
SfefRm ST U T T ?

O Elephant
gIedt

O Red kangaroo
AT HIRS

O Bison

e

O Tiger
oY

https://nchm.nta.ac.in//bucketing/main.jsp

* Question Level: Select Level v

Comment:

* Validated By:

gcollegeduniag
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Question(325)

https://nchm.nta.ac.in//bucketing/main.jsp

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):115

Where do all the deleted files go in the computer ?
FHugex ¥ fEelie &1 9 arel wIgd wei a8 2
O Toolbar
CAdR
O Task bar
RO IR

O My computer

T HTR

O Recycle Bin
o=

Question(326)

Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):116

Which is the acid used in eye wash ?

3@ BT 411 & fore fow eret &1 v fPaT ST § 2

O Oxalic Acid
3

O Nitric Acid

TEfew S

X

O Boric Acid
3T

O None of the above

Iufed B A BIE LN

Question(327)

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):117

Which of the following is called emergency hormone ?
frafafea 3 & fPd smuTaeTe= 3id-81a (3THIF) Fea & 2
O Insulin
O Estrogen

O Adrenalin

O Oxytocin
SfafieiRE

Question(328)

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):118

Malfunction of which organ causes diabetes ?

e 37T Y @RI F HRUT AYRAT AT ST R 2
O Liver
e

O Pancreas
SR

O Kidney

O Heart
&gad

Question(329)

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):119

Which cancer is caused by the UV rays of sun ?
Td #1 gAY, (SregTarade) fHRol & FRU HIH-A1 HIR AT 2
O Lung cancer
B BT W
9 Mouth cancer
e &1 W
O Liver cancer
THd BT HW
O Skin cancer
IR

https://nchm.nta.ac.in//bucketing/main.jsp

* Question Level: Select Level v

Comment:

* Validated By:

gcollegeduniag
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Question(330)

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic :

World Tourism Day is celebrateo_] on :-
fay vdfeq RRaw e AT ST € 2

O 25 September
25 RydsR

O 26 October
26 3SR

O 27 September
27 R

O 27 January
27 SR

Question(331)

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic :

Who is the founder of Facebook ?
F RIS I 8 ?

O Mark Zuckerberg

O Brian Acton
S Tded

O Jimmy Wales
ot aed

O Larry Page
ool

Question(332)

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic :

The abbreviation ‘ATM’ stands for which of the following ?

TYEY AT § T Ay § 2
O All time money

3 T8y HA
O Automatic teller machine

O Automated teller machine

O Any time money
witersA

Question(333)

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic :

https://nchm.nta.ac.in//bucketing/main.jsp

Current Question Difficulty Level: 1
GK and CURRENT AFFAIRS SET B):120
* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1
GK and CURRENT AFFAIRS SET B):121
* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1
GK and CURRENT AFFAIRS SET B):122
* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1
GK and CURRENT AFFAIRS SET B):123
* Question Level: Select Level v

Which is the new name of Kolkata port trust which was recently changed by prime minister Modi

?
PIAGIA U1 g BT 741 1 F1 3, B g7 ) & i wer v, of M) oft gy sgen man @ 2

O
Atal Port Trust
3T UK T
O

Patel Port Trust
urd o

O

Shyama Prasad Mukherjee Port Trust
THT TTE GEol Ue g

O

Veer Savarkar Port
R raRaR Uuid

Question(334)

https://nchm.nta.ac.in//bucketing/main.jsp

Comment:

* Validated By:

Current Questior
gcollegedumas
India’s largest Student Review Platform
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(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B)d24tion Level: Select Level v

Which is the brightest star of the solar system ?
TR YUITeht T T8 TUBER RaRT H-a1 § 2

Comment:

O * Validated By:

Mars
T T8

O

Mercury
ECR

O
Sirius

B AR
O

Venus

P T

QueStion(335) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):125

Which strait lies between Mediterranean sea and Atlantic ocean ? * Question Level: Select Level v
YA ARK 3R Sedifed AR & S SH-ATRE § 2
O Hudson Strait
FESUT KT
O Gibralter Strait

Comment:

* Validated By:

O Dover Strait
e

O Palk Strait
Uledh Ke

Question(336) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):126

What is the national emblem of Japan ? * Question Level; Select Level v
ST ST g RE e 2
C :

O Chrysanthemum omment:

O Kiwi * Validated By:

O Rose

O White lily
CIECARKE
Question(337) Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B , Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):127
Where is the “National Defence Academy” located in the country ? * Question Level: Select Level v

TP 38 SrepTeHt 3 A et R B 2

O Dehradun

Comment:

O Ahmed Nagar * Validated By:

IEHGTR

O Pune, Khadakwasla
O, GSTar

O Mhow
3

Question(338) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):128

Which security organization looks after the security of the borders of the country ? * Question Level: Select Level v

DI GRET TS S Bt Wrarait 3 JRem &1 Hf Fvar @ 2
O CRPF

collegedunia:s
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Fﬂ.xﬂﬂ.‘-ﬂ.w * Validated By:

O cIsF

3t.3mE .U SUDTT
O BSF

.eH.Te

O NSG

LRG|

QueStion(339) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):129

* Question Level: Select Level v
NITI Aayog or “National Institution for transforming India” replaced which of the following
organization ?

Hifer SmaT A1 “HRE uRad 7g WP SR Fafafed e el o wfawifia sars 2

* Validated By:
@)

Comment:

Finance commission DI

O

National Development council

O

Planning commission

O

Economic cooperative Commission

QueStion(34o) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):130

Amazon river flows through which of the following country ? * Question Level: Select Level
¢} Fraffe fra 3 9 fiex varfka gl € 2
O usa
PAGAY
O France
Wi

O Brazil

v
Comment:

* Validated By:

O cCanada

Question(341)
(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):131

Soilless agriculture refers to which of the following studies ? * Question Level: Select Level v
FrafafEa e srore @ e @ 2
O sericulture
DIDIC U
O Inter-cropping
Ered:aiin|
O Hygroponics

Current Question Difficulty Level: 1

Comment:

* Validated By:

O Hydroponics

QueStion(342) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):132
* Question Level: Select Level v
The news paper named “Daily News” is published in which country ?
«Ze gS” AT TATIRY fohy 311 § YH1iRId gar g 2 Comment:
O * Validated By:
Britain

collegedunia:
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O
USA

RASAY

India

China

Question(343)

https://nchm.nta.ac.in//bucketing/main.jsp

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):133

Which of the following is correct ? ligaments connect
T i AP w sy ad § 2

O Muscles to bone

IR oY Y F Ty

O Nerve to bone

de o iy & 1y

O Bone to bone
Y Y Y & Ty

O Muscles to skin

U B @ & Y

Question(344)

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):134

Which is the tallest hotel building in the world ?
fay &1 9 S Sead PR 2

O Ritz hotel, New York
e gled, garh

O swiss hotel, The Stamford, Singapore
freq, & Ruwis, RimR
O Gevora Hotel, Dubai
gie,

O J.W Marriott , Dubai marquis
& sy AfAe, g, Uiy

Question(345)

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):135

Cathay Pacific is the airline of which country

“» Y Wfre” o 3 F T8 2
Q Singapore

O Japan
KICIC)

O Hong Kong
BNIPIT
O Australia

X

Question(346)

* Question Level: Select Level v
Comment:
* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):136

Who penned this famous Quote -
“Sarforoshi ki tamanna, ab hamare dil mein hai” ?

RIS gad - TRWRIZN B a1 3 TAR fd & 87 & wiar d19 82

O Ram Prasad Bismil
REREIAERIER)

O s.C.Bose
. EN

O Bal Gangadhar Tilak
e TR s
O Bhagat Singh

https://nchm.nta.ac.in//bucketing/main.jsp

* Question Level: Select Level v

Comment:
* Validated By:

QGUUITII
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Question(347)

https://nchm.nta.ac.in//bucketing/main.jsp

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):137

Which international Sport is “RYDER CUP” associated with ?

HI-HT SARTPIT T “YES FU” | W@ 3 2
O Football

Peard

O Golf

e

@) Baseball

O Basketball

Question(348)

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):138

Where are the headquarters of “Organization of Petroleum Exporting Countries” (OPEC) located

ﬁ@ﬁuﬂﬁuﬁ&ihﬁﬁﬁ?ﬁ(aﬁﬁﬁ)mg@mmm%?

O Paris

O Vienna

O Brussels

O Geneva

Question(349)

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: GK and CURRENT AFFAIRS SET B, Subtopic : GK and CURRENT AFFAIRS SET B):139

Which of the following is the largest Expressway of India, that has 6 lanes, likely to be completed

by 2021 ?

* Question Level: Select Level v

YR $T JaQ GaT TGUH-d B A1 3, R 88 a4 §, 3R 39 99 2021 9% [RT S $I THTGT 8 Comment:
?

O Yamuna Expressway
T
O Delhi — Merrut Expressway

feeefl-aive uatEa

O Himalayan Expressway

O Purvanchal Expressway

Question(350)

* Validated By:

Current Question Difficulty Level: 1
0

(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):14

Which of the following is divisible by 11?
fFrafafee & @ $19-0 w=m 1 3 faursa g2

O 901
O 1001
O 1101
O 1201

Question(351)

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B , Subtopic : Numerical Ability and Analytical Aptitude SET B):141

What is the sum of first 20 odd natural numbers?

W 20 fIuw Wipfae 3t BT =T o 32
O 100
O 200
O 300
O 400

https://nchm.nta.ac.in//bucketing/main.jsp

* Question Level: Select Level v

Comment:

* Validated By:

QGUDITII
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Question(352) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):142

If the sum of a number and its square is 240, what is the number? * Question Level: Select Level

TfS T AT 3R ISP a¥f BT TGN 240 §, ) 98 H&IT |1 872

v

O 12 Comment:
O 15 .
* Validated By:
O 18
O 21
Question(353) Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):143

A mixture contains milk and water in ratio 4 : 3. If 5 litre of water is added to the mixture the ratio * Question Level: Select Level

becomes 4 : 5. Find out the quantity of milk in the mixture.
TS firyor ¥ g 3R SIet T SuTd 4 : 3 81 91 39 fryor & 5 eftex Tt freman sirar @ <t 5 frsor Comment:
T 3UTd 4 : 5 81 STa 3 1 39 {901 & g 31 7w fva-it 82

O 1oL * Validated By:

10 ©iex

O 20L SuB

20 AR

O 30L
30 R

O 40L
40 TR

v

Question(354) Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):1

Find the square root of 156816 * Question Level: Select Level
156816 HT I T T 32

O 196 Comment:
O 296

* Validated By:
O 396

44

v

O 49 ST

Question(355) Current Question leﬁcult)aLeveI 1
5

(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B
* Question Level: Select Level

.. 0.3x03+0.03x0.03-06x0.03
Sl.tnpllf}' 054 Comment:

* Validated By:

5 a1 0.3x0.3+0.03x0.03-0.6x0.03 : =

0.54

0.03

9.37

0.982

0.135

v

Question(356) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):146

5 year ago, Mr Sohanlal was thrice as old as his son and ten years from now will be twice as old * Question Level: Select Level

https://nchm.nta.ac.in//bucketing/main.jsp

v

collegedunia:
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as his son. Mr. Sohanlal’s present age is )
v o d, oft Higaera 3R O A fiF AT 99 2 37 o A 1 avf Uyt I oA O | gAT IS Comment:
ST | ot HgeTa B adH g T 72

O 35 years
35 Y

O 45 years
45 99

O 50 years
50 aY

O 55 years
55 a9

* Validated By:

=11

Question(357) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):147

Trader marks his goods 20% above the cost price and allows a discount of 15% on it. Find his * Question Level: Select Level v
gain percentage

TP ATIRY A U aRg3il 1 ARTa Yoo F 20 fa=ra i R sifera forar @ ok axgai w15 Comment:
yfa=ra 31 ge & 71 IqwT ary ufasrd a1 87

O 4% * Validated By:
O 3%
O 2%
O 1%

SUDITI

QueStion(358) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):148

A batsman scored 220 runs which includes 11 boundaries and 11 sixes. What is percentage of * Question Level: Select Level v
his total score did he make by running between the wicket? (Given 1 boundary = 4 runs and 1 six
=6 runs). Comment:

TS Featarst 3 220 37 §91E 8, RH 11 e iR 11 S MG (1 Nep A4 IR 157 H 6
T8 §) Iu> ool 3 A © Rieve F = Pewe Rig 7T =) @1 uferwra w1 82

O 40%
O 50% Suor
O 60%
O 70%

* Validated By:

Question(359) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):149

A man sold 250 chairs and had a profit of equal to the selling price of 50 chairs. His profit * Question Level: Select Level v
percent is

T iR A 250 HRIAT At 3R IF 50 FRITT & fAHa Gou & TRIGR BT ATH UITd g3MT 81 IADBT ATH Comment:
ufa=Ta T 82

O 10% * Validated By:
O 15%
O 20%
O 25%

Question(360) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):150

Find the missing term in series, * Question Level: Select Level v

125, 80, 45,

mmﬁﬁﬁmﬁﬂﬁ Comment:
125, 80, 45, ,5

O 10 * Validated By:

O 20

O 30 SupT
O 60

Question(361) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):151

Find out the missing term in the series, * Question Level; Select Level v

1,4,9, 16, , 36, 49
’j@?ﬂﬁﬁ?ﬁm B U - Comment:

1,4,9,16, , 36, 49
. . . collegedunia:
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O 25 * Validated By:

O 28

O 31 Soor
O 34

Question(362) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):152

Find out the missing term in the series, * Question Level; Select Level v
122, 145, 170, 197, , 257

m o R T a1 W - Comment:
122, 145, 170, 197, , 257

O 126 * Validated By:

O 176
O 226 Sue
O 258

QueStion(363) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):153

The salary of a worker is first increased by 5% and then it is decreased by 5%. What is net * Question Level: Select Level v
change in his salary?
TP HHARI F A9 U Ugd 5 Ufawrd gi 1 oI1am @ iR 3P a1e A= # 5 ufawra @t w3t Bt ot 21 Comment:
39 a4 ® 1 g uikad= gan 82
O Increase in salary by 1% * Validated By:
TS 1% 9

O Decrease in salary by 0.25% Saorm
T H B 0.25% I

O No change in salary
A # BT URaH T

O Decrease in salary by 1%

A A B 1% J

QueStion(364) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):154
* Question Level: Select Level v

If income of Ravi is 20% more than that of Ram, then income of Ram is how much percent less
than that of Ravi?

wﬁ?ﬁﬁmﬂmm%ﬂmﬁzouﬁmmﬁé,a’rmméﬁ?ﬁﬂiaﬁq@mmw
2

O

16.6%

Comment:

* Validated By:

SUDBTTI

@)
20.6%

24.6%

28.6%

QueStion(365) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):155

An item is sold for Rs. 680 after allowing a discount of 15% on its marked price (M.R.P). Find the * Question Level: Select Level v
marked price.
TS T B I 3HifHd Ted (TR W 15 Wl B ge I F 94T 680 FUY F I 11 81 I Comment:
a1 Sifpa qea AT R 2
O Rs. 500 * Validated By:
500 3T
O Rs. 600 ST
600 30T
O Rs. 700
700 30T

O Rs. 800

800 ¥UY g lleseduni
colliegedunias
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Question(366) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B , Subtopic : Numerical Ability and Analytical Aptitude SET B):156
An man can row with a speed of 6 km/h in still water. What will be his speed with stream, if the * Question Level: Select Level v
speed of stream is 2 km/h?
e it fRR o # 6 {5t/ 9¢ oY wfa & =ra e woven 81 9 Sravare &) i 2 f5i /@ 3, @) Comment:
IgH! TS STAvaTe P q1Y 1 EhM?
O 4 km/h * Validated By:
4 foeit / ger
O 6 km/h Saorm
6 it/ der
O 8km/h
8 fptft / der
O 10 km/h
10 faseit / det
Question(367) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):157
A boat takes 8 hours to row 48 km down stream and 12 hours to row the same distance * Question Level: Select Level v
upstream. Find out the speed_ of stream. )
T AT Sayars ot fazm & 8 62 | 48 frrht 3t g&f 7 et § 3R SR Savars @t faudia fa=m & Comment:
U g8 B 99 B T 12 S BT 99T AT 8 | <l Svarg S i 1182
O 1km/h * Validated By:
1 fpett / gt

O 2km/h gv!E-’ﬂl-F
2 feeht / der

O 4 km/h
4 foet/ der

O 8km/h
8 fordlt / der

Question(368) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):158

A wheel makes 2000 revolutions in covering a distance of 88 km. Find the radius of wheel. * Question Level: Select Level
TS ufgar 88 it 3t gt ag HA A 2000 TTHR Bredr 3 | S Ufed BT refour 7T 32

O 3m Comment:

3R

* Validated By:
O s5m. Y.

5 1flex

O7m
7 MR

Oo9m
9 Mex

v

QURITI

Question(369) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):159

What will be the LCM of 15, 24, 32, 45? * Question Level: Select Level v
15, 24, 32, 45 BT TH..TH T &2

O 1240
O 1340
O 1440
O 1540 SaoTm

Comment:

* Validated By:

QueStion(37o) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):160

Find the least number which when divided by 24, 30, 54 leaves 5 as remainder in each case. * Question Level: Select Level v

FATH TS FaTg, O 24, 30, 54 F FIUTRG F1 R TAS IR AUGA 5 U g 2 |

O 1000 Comment:

O 1035 *Validated By:

O 1065

O 1085 Saor

collegedunia:
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Question(371) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):161

Find the HCF of 24, 30, and 42. * Question Level: Select Level v
24, 30 TYUT 42 HT TG Farg|

O 2 Comment:

O3

Oe

Oo9 Suon

* Validated By:

Question(372) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):162

Three cubes of iron whose edges are 6 cm, 8 cm and 10 cm respectively are melted and formed * Question Level: Select Level v

into a single cube. The edge of new cube formed is
A 6 9.4, 8 At 9uT 10 F4. S SR 99 i T P Rraer: ve 99 § uiafda fear smar 21 Comment:
Y 7T 99 BT BR 18?2

O 12¢em * Validated By:

12 .7h
O 14cm SUoT
14 Q.7

O 16cm
16 .4

O 18cm
18 9.4

QueStion(373) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):163

Find the simple interest on Rs. 7200 at 8% per annum for 10 months. * Question Level: Select Level v
7200 YT B IR TR 10 AL & oW 8 wfa=ra arfifer o & AR a1 41 g2
O Rs. 460
460 ¥UT
O Rs. 420
420 30T
O Rs. 440
440 3T
O Rs. 480
480 3T

Comment:

* Validated By:

Que5ti°n(374) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):164

Rs. 25000 is borrowed at compound interest at the rate of 3% for first year, 4% for second year * Question Level: Select Level v
and 5% for third year. Find the amount to be paid after 3 years.

Ty af 3 yfaRrd, gay a9 4 ufa=ra ofiR Fi¥ o 5 ufa=ra ot aR A Tl ST W 25000 FUT B Comment:
TR 1 ol foram ST 81 9 o & 9T YA ST S aret i $1 o w3

O Rs. 26119 * Validated By:

26119 ¥UY

O Rs. 27119 Saorm
27119 ¥UQ

O Rs. 28119

28119 ¥UY

O Rs. 29119

29119 ¥UY

QueStion(375) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):165

A merchant commences with a certain capital and gains annually at rate of 25%. At the end of 3 * Question Level: Select Level v
years his capital is worth Rs. 10000. What was his original capital ?
TP AR i Yol & J1Y SR IR a7 8 3R 25 ufa=rd aiffe &t ov 1 @y ifsfa wwar Comment:
21 3 99l & UYTa IWH! Yot 10,000 FUYT Y 9Tl 8 1 IqS! @ Yol fobart 32

O Rs. 5120 * Validated By:

5120 »UU¢

O Rs. 5240 Saom
5240 >4y

O Rs. 5360 g
collegedunia:
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5360 ¥UY
O Rs. 5480
5480 ¥UY

Question(376)

https://nchm.nta.ac.in//bucketing/main.jsp

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B , Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):166
* Question Level: Select Level v

A tap can empty a tank in 15 hours. Another tap can empty the tank in 10 hours. In how much
time the completely filled tank get emptied, if both taps are open together ?

T 7 et ot Y 15 HE) § WIeht HY Webdl g1 GORT -Tad SISt DI 10 el & Wrell & TP 2
Tfg Q= el B TH 1Y Wt A o) T <ol fran awa & @reft gl 2

O 4 hours
49
O 6 hours
6 Hc
O 8 hours
g

O 10 hours
109

Question(377)

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):167
* Question Level: Select Level v

Corner AFE is cut from the rectangle as shown in the figure. The area of remaining polygon

ABCDE is
F E«—7CM— D
g
A

4*
3CM l

¥
B 11 C

ﬁ%;ﬁqwﬁa%mwmﬁ@mmﬁwaﬁmm%lWEEWABCDEWQW
HTe?

F E «—7CM —> D

58 cm?
58 ¥.412

68 cm?
68 9412

78 cm?
78 9412

88 cm?
88 9112

Question(378)

|
£

https://nchm.nta.ac.in//bucketing/main.jsp

Comment:

* Validated By:

Current Questior .
collegedunia:
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(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and-Anahticalsf Select Level

What is the area of triangle AFE, as shown in the figure.

F

E<«—TCM — D

T

1

11

TS 31U W AFE HIUT Y HTeT ATaT & | FHYST AFE &7 &9%a |1 8 2

F

E<«—T7CM— D

T

1

8 cm?

8 q.1fi2

10 cm?

10 .72

12 cm?

12 §.12

14 cm?

14 J12

Question(379)

https://nchm.nta.ac.in//bucketing/main.jsp

The cost of carpeting a room is Rs. 10 m2. Find out the cost of carpeting a room which is 4 m

wide and 6 m long.

TP HHY B HIUTCT P! @RI 10 YT H1.2 21 4 Hiex A1 31X 6 Hiex oia HAY &1 SIafeT &1 T

AT gRiT?

O

Rs. 200
200 »Uu

Rs. 240
240®U¢

Rs. 140
140 ¥49¢

Rs. 100
100 ¥9q

Question(380)

(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):170
* Question Level: Select Level

Arrangements :

https://nchm.nta.ac.in//bucketing/main.jsp

Comment:

* Validated By:

Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: Numerical Ability and Analytical Aptitude SET B, Subtopic : Numerical Ability and Analytical Aptitude SET B):169

* Question Level: Select Level

Comment:

* Validated By:

v

Current Question Difficulty Level: 1

v

collegedunia:
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Four Members of a team are sitting on a bench for a photograph. Pramod is to Pankaj’s left.
Manish is sitting at Pankaj’s right. Mohan is seated between Manish and Pankaj. Who would be
third from the left in the photograph?

qaRT : * Validated By:

U® 30 & IR A BITE A & e 59 & 93 €1 wiilg e 3t arf ok do71 31 -9 Uopel

P ol 3R JoT 81 Hig 7 3R Uope $ ot A 981 8 | Bierne & ot 3k | far afed s 8 mgrEm
?

Comment:

O Pramod

O Pankaj
Uobol

O Manish

O Mohan

QueStion(381) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):171

Arun told Raijiv, though | am the son of your father, you are not my brother. How is Arun related * Question Level: Select Level v
to Rajiv?

3R] I[oTE Y BT B, gTerifes § Sra frar 1 gpatar G §, 3my A urs 7€ 811 3Re0r 3R 3ot Comment:
T T Y 82

O Brother * Validated By:
O Nephew

O sister
T

O Niece
G

QueStion(382) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):172

Suman walks westward for 33 meters, and then turns to her left and jogs 23 metres and then * Question Level: Select Level v
turns to her right and walks 17 metres. Again turning to her right she walks 23 metres. Determine

the shortest distance between Suman’s starting point and the present location? Comment:
A Uf F1 3R 33 Hiew Taed § 3R 3T 91 3= TR 3R g8 et § 3R 23 Hiex Iael § 3R
TP 91 98 ST R SR HEd & 9fX 17 Hiex Tad! 81 96 Y o ardt ok gt § ofR 23 Wiew Valatod By

T ¥ 1 GAT SR ARTYD foig F g Flereaan g &1 Fufor ¥ 2

O 25 metres m

25 1.

O 50 metres
50 #.
O 17 metres
17 .
O 33 metres
3370,
QueStion(383) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):173
* Question Level: Select Level v
Complete the series by finding the missing term
1, 6,15, , 45, 66, 91 Comment:
fraa si 3 RRa®~ e &) RT3 -
1,6,15, , 45, 66, 91

* Validated By:

© —

25

O
26

O
27

O
28

collegedunia:
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QueStion(384) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):174

If the letters in the word “UNDERTAKING” are rearranged in the alphabetical order, which one * Question Level: Select Level v
letter will be in the middle after the arrangement?
Tfe Weg “UNDERTAKING” T 31&RY oY quichy # oaafud faram STar & oY, saafeud $34 & UyTd HiF- Comment:
T &R T | T ?
Oc * Validated By:
ON [ o]
®) | SUITIIT
Ok
Question(385) Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):175

Select the word which connot be formed by using the letters of the given word “PORTFOLIO”. * Question Level: Select Level v
T A I g BT 99 B3 A e “PORTFOLIO” F 3(&RT & TR P a1 7Y foram o
Hbhdl %| Comment:
O RIFT
O ROOF * Validated By:
O FoRT mgEs
O PORTICO
QueStion(386) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):176
Find the odd word * Question Level: Select Level v
AT g BT T B -
O Square Comment:
Eul
O Sphere * Validated By:
O Rectangle
3Had
O circle
q
Question(387) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B, Subtopic : Reasoning and logical deduction SET B):177
Scientist : Laboratory :: Actor : ? * Question Level: Select Level v
: I PAPR : ?
O Stage Comment:
o
O Casino * Validated By:
O Bank
O site
R
QueStion(388) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):178
Come : 36 :: Prank : ? * Question Level: Select Level v
O 20
Comment:
O 30
O 50 * Validated By:
O 60 [ ]
OUBITIT
QueStion(389) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):179
In a certain language “STRAIN” is written as “UWTDKQ”. How will “PLACES” be written in that * Question Level: Select Level v
code?
T fAf¥a urar & “STRAIN” &Y “UWTDKQ” foraT SiTaT 81 39 ®is # “PLACES” %1 foha yoiR foran Comment:

ST 2
collegedunia:
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O RNDFGV * Validated By:
O ROCFGV
O RODEGV
O ROLCEF

Ul

Question(390) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):180

If B =2, BAG =10, then BOX = ? * Question Level: Select Level
gfe¢ B=2,BAG=10,8, G BOX =2

O 63
O 39
O 41
O 25 SOOI

v

Comment:

* Validated By:

Question(391) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):181

In a class, girls stand in a single line. One of the girls is 20th in order from both the ends. How * Question Level: Select Level v
many girls are there in the class?

TP BT # asfedl T ufed # WSl §1 370 A T as! g4l BRI 4 Ufea # 20 T RA W 1S9 Comment:
Pan | fpah asfrai @ § 2

O 72 * Validated By:
O 39
O 38
O 50

SUDIT

QueStion(392) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):1

Establish the relationship between the two words. Then from the given options select one which * Question Level: Select Level v
has the same relationship as of the given two words.
CLOCK : SECOND Comment:
R ) Tl & T A Sy w1 B¥ 1 39 a1, 9 fu T el # @ ve fawew &1 9uq B
EE.ET H&'ﬂ(ﬁﬁ’l@* A R * Validated By:
O calendar : Month Setelns
:HIg
O calendar : Year
-af

O calendar: Day
fem

O calendar : Week
FAER : TS

QueStion(393) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):183

Select the right option which indicates the correct code for the word given in the question. * Question Level: Select Level v
If MUSK is coded as 146816, then ZERO will be coded as :

Ty 7 f3T U T F IS & fore T i &1 wu= HY | Comment;
Ife MUSK 1 H1S 146816 & o ZERO HT H1S HT gRII?

O 113811 * Validated By:
O 122912

O 15915

O 2651815

SUDITT

Question(394) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B, Subtopic : Reasoning and logical deduction SET B):1

Introducing a man, a woman said, “His wife is the only daughter of my father”. How is the man * Question Level: Select Level v

related to the woman?

TH IFY $T IR T §8, TP AR Haet § - “SqD! Uell A Frar Y gt 3¢ 871 98 geu s Gomment;
ufgen | f5a ypR YRR @ 2
O Husband * Validated By:

ofq
O Father w
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O Father-in-law
O Brother

Question(395) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):185

If sky is star, star is cloud, cloud is earth, earth is tree and tree is book, then where do the birds * Question Level: Select Level v
fly?

U%mm%,ﬂmalaﬁ %,Wq@%,q@ﬁg%@?ﬁswé,ﬁmﬁiﬂaﬁﬁm% Comment:

?

O cloud * Validated By:
CIESE

O sky Saor
SThIRT
O Data inadequate

O star
GIRY

Question(396) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B, Subtopic : Reasoning and logical deduction SET B):186

* Question Level: Select Level v
Find the missing term in the series.
1, 4, 27, 16, , 36, 343 Comment:
Frafafea sear o e o o1 W -
1,4,27,16, , 36, 343
* Validated By:

O
105

O
125

O
128

O
205

Question(397) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B, Subtopic : Reasoning and logical deduction SET B):187
* Question Level: Select Level v

If the time in a clock is 7 : 45, then what is the time shown by the same clock in the mirror?

ﬁﬁﬁw745%,ﬁﬂﬁﬁmﬁmwwwﬁﬁm7 Comment:
* Validated By:

QURITI

QueStion(398) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):188

In a certain language “Sun shines brightly” is written as “ba lo sul”, “houses are brightly lit” as * Question Level: Select Level
“kado ula ari ba” and “light comes from sun” as “dopi kup lo nro”. What is the code for “Sun”
and “brightly”? Comment:

TP 43 uraT & “sun shines brightly” B “ba lo sul”, “houses are brightly lit” P “kado ula ari
@collegedumag
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ba” 3R “light comes from sun” Eal “dopi kup lo nro” ﬁl@T\“xﬂﬂT%, @ “sun” “brightly” %ﬁl’q * Validated By:
AT PIS 872
O basul SuoT
O sullo
O loba
O baari
Question(399) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B, Subtopic : Reasoning and logical deduction SET B):189
Find the number which is different from other. * Question Level: Select Level v
Frafafea 3 3 39 wen & @ o o A i 31
O 1444 Comment:
O 1553 .
* Validated By:
O 8590
O 1984 Suon
Question(400) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B, Subtopic : Reasoning and logical deduction SET B):190
If English alphabet is written in the backward order, then which letter is 7th to the right of ‘K’ * Question Level: Select Level v
g Sl & &R I I HH | forar 1a1 8 Y, ‘K’ B 1A 3R ¥ 7 9F &R PI-91 RI?
O A Comment:
OB .
* Validated By:
Oc
Ob Saom
Question(401) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):191
* Question Level: Select Level v

One number in the following series does not follow the certain rule. Find that number.
10, 14, 28, 32, 64, 68, 132

e & T i i fFraw &1 srgaRor e #6131 39 ofF B @i |
10, 14, 28, 32, 64, 68, 132

Comment:

* Validated By:

O
28

QURITT

O
32

O
64

O
132

QueStion(402) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B, Subtopic : Reasoning and logical deduction SET B):192

In the question given below one term is missing. Based on the relationship of the two given * Question Level: Select Level v
words find the missing term from the given option.
MAR : RAMP :: INS : ? Comment:

7y ¥ TP g Vo B 1 TR &1 gl & et P 3muR W e ug &1 9 faw e faw et
ﬁﬁm&l * Validated By:
MAR : RAMP :: INS : ? alidated By:
O NEST
O sNIP
O TINS

O sNAP

SUDITT

Question(403) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B, Subtopic : Reasoning and logical deduction SET B):193

* Question Level: Select Level v
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In question given below which one number can be placed at the sign of interrogation?

Comment:
7 16 g 12 21 25
Y Y Y * Validated By:
207 20 ? SUoT
Frafafaa vy & vafug(?) i o sie @ ufawanfug far s awar g2
7 Yl & 2 Yl 2 21 Y 25
207 a0 ?
O
425
O
184
@)
241
O
210
Question(404) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B, Subtopic : Reasoning and logical deduction SET B):194
* Question Level: Select Level v
In the question given below which one number when placed at the sign of interrogation shall
complete the number matrix. Comment:
7 4 5 * Validated By:
g 7 6 S
3 3 ?
29 19 31

R few 7w uy A wufas @) e o A wlawiriie forar sime R 7% Ten afewm ot 8) sl

7 4 5
2 7 &
3 3 ?
29 19 31
O
4
O
6
O
5
O
3
Question(405) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B, Subtopic : Reasoning and logical deduction SET B):195
* Question Level: Select Level v
In series given below, what would come in place of the question mark?
81Y, 27S, 9N, 3J, ? Comment:

2 uga JRaen ¥, UY T8 & I W T 3T ?
81Y, 278, 9N, 3J, ?

* Validated By:
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O Suorm
OH

O
1G

O
OF

O
1E

Question(406) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):196
Spot the odd one out. * Question Level: Select Level v

i uega 9gE A I8 TS BT TG B

O Apple Comment:

O Mango * Validated By:
S

OuB

O Banana

O spinach
CINCS
QueStion(407) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):197

* Question Level: Select Level v
In the following letter series, some of the letters are missing, they are given in the same order as
one of the alternatives below it. Choose the correct alternative. Comment:
ac ga___ cg ce ) )
frafifEd sier Tl ¥, 7 ¢ier Rad 8, 3= -9 few 1y fawent & war 0 ¥ yga fear manr @1
gl fawey &1 9= B " Validated By:
ac ga cg ce
OURITT

O

dbag

O

ecag

O

deag

O

ebdg

Que5ti°n(408) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B , Topic: Reasoning and logical deduction SET B , Subtopic : Reasoning and logical deduction SET B):198

* Question Level: Select Level v

6 persons are sitting around a hexagonal table. ‘R’ is to the immediate left of ‘Q’ who is second
to the right of ‘P’. ‘S’ is between ‘T’ and ‘U’, ‘U’ is to the immediate right of ‘Q’. Who is sitting to
the immediate right of ‘T’? Comment:
6 TNT TCHIUNT A% & TRY 3R 38 §1 ‘R, ‘@’ F depral a1l 31X 487 8 3R ‘@, P B grell iR @
TRRVAWRE T MR U F s 71U, ‘Q F Ihrd il 3R 3197 1 Afew ‘T & apra gl o ,

Gﬁ? aB'I' % 2 Validated By:

Ou e

Os

(O]

OR

QueStion(409) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set B, Topic: Reasoning and logical deduction SET B, Subtopic : Reasoning and logical deduction SET B):199

In a row of trees, one tree is 5th from either end of the row. How many trees are in the row? * Question Level: Select Level v

TSI P iR H, TP Is iR P I IR A5 T RA R I ST U AP TS & 2
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O 1 Comment:

Os

O 10 * Validated By:

Oog

Question(410) Current Question Difficulty Level: 1

(Stream: NCHM NTA Set B, Topic: ENLISH LANGUAGE SET B, Subtopic : ENLISH LANGUAGE SET B):200
* Question Level: Select Level v
In the following sentence, some of the words have been left out. Read the sentence carefully &

choose the correct answer to each question out the alternatives & fill in the blanks. Comment:

He would always be late with submissions because he would
* Validated By:

O

Prevaricate

SUDITT

O

Procrastinate

O

Interrogate

O

Discriminate
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